
  

D–1673     

DISTANCE EDUCATION 

Common for M.Com./M.Com. (F&C) DEGREE 
EXAMINATION, MAY 2023. 

First Semester 

MANAGEMENT CONCEPTS 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is Management? 

 ÷©»õsø© GßÓõÀ GßÚ? 

2. State any two features of planning. 

 vmhªku¼ß H÷uÝ® Cμsk A®\[PøÍU TÖP. 

3. What is formal organisation? 

 •øÓ¯õÚ Aø©¨¦ GßÓõÀ GßÚ? 

4. What do you mean by informal organisation? 

 •øÓ°À»õu Aø©¨¦  £ØÔ }Âº AÔÁx GßÚ? 

5. What is staffing? 

 £o¯õÍº {¯©Ú® GßÓõÀ GßÚ? 

6. Define motivation. 

 FUSÂzuÀ Áøμ¯ÖUP. 
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7. What is meant by co-ordination? 
 J¸[Qøn¨¦ £ØÔ AÔÁx GßÚ? 

8. State any two features of directing. 
 C¯USÂzu¼ß H÷uÝ® Cμsk |ßø©PøÍU TÖP. 

9. What is Business Ethics? 
 ÁoP ö|Ô•øÓPÒ GßÓõÀ GßÚ? 

10. What is Management Information System? 
 ÷©»õsø© uPÁÀ •øÓ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11.  (a) Explain the nature of management. 
   ÷©»õsø©°ß ußø©PøÍ ÂÍUSP. 

Or 

 (b) What are the limitations of planning? 
   vmhªku¼ß SøÓ£õkPÒ ¯õøÁ? 

12.  (a) What are the advantages of functional organisation? 
   ö\¯À£õmk Aø©¨¤ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) What are the benefits of line organisation? 
   Á›ø\ Aø©¨¤ß £¯ßPÒ ¯õøÁ? 

13.  (a) Briefly describe the various steps involved in 
delegation. 

   J¨£øhÂÀ Ah[Q²ÒÍ £À÷ÁÖ £i{ø»PøÍ 
_¸UP©õP ÂÁ›UP. 

Or 

 (b) State the functions of staffing. 
   £o¯õÍº {¯©Úzvß £oPøÍ TÖP. 
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14.  (a) Explain the different forms of oral communication.  

   Áõ´ö©õÈ uPÁÀ öuõhº¤ß £À÷ÁÖ £iÁ[PøÍ 
ÂÍUSP. 

Or 

 (b) Enumerate the qualities of a good leadership. 

   J¸ |À» uø»ø©zxÁzvß uSvPøÍ GkzxøμUP. 

15.  (a) What are the objectives of management audit? 

   ÷©»õsø© uoUøP°ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Write short notes on Bench Marking. 

   vÓÚÍÄ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the various functions of management. 

 ÷©»õsø©°ß £À÷ÁÖ £oPøÍ ÂÁõvUP. 

17. Discuss the importance of planning. 

 vmhªku¼ß •UQ¯zxÁzvøÚ ÂÁõvUPÄ®. 

18. Describe Maslow’s theory of motivation. 

 ©õì÷»õÂß FUSÂzuÀ ÷Põm£õmiøÚ ÂÁ›UP. 

19. Explain the basic requirements of an effective control 
system. 

 J¸ £¯ÝÒÍ Pmk¨£õmk •øÓø©°ß Ai¨£øhz 
÷uøÁPøÍ ÂÍUSP. 

20. Explain the various factors affecting business ethics. 

 ÁoP ö|Ô•øÓPøÍ £õvUS® PõμoPøÍ ÂÍUSP. 

———————— 



  

D–1689   

DISTANCE EDUCATION 

M.Com.(F&C) DEGREE EXAMINATION, MAY 2023. 

First Semester 

BUSINESS LAW 

(CBCS – 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is the Evolution? 

2. Who can acceptance the Offer? 

3. Who is Consumer? 

4. What is a Void Contract? 

5. Define Quasi Contract. 

6. What are the Rights of lien? 

7. Who formed a company?  

8. Who can issue promissory note? 

9. What does private carrier mean in Insurance? 

10. What is the role of Official Receiver? 
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SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain the main features of Statute Law. 

Or 

 (b) Discuss the persons of unsound mind. 

12. (a) Explain the different Types of Offer. 

Or 

 (b) Distinguish between Fraud and Misrepresentation. 

13. (a) Write a brief essay on Void Agreement. 

Or 

 (b) Explain the Discharge of Contracts. 

14. (a) Define Partnership and state its essential elements. 

Or 

 (b) Describe the Nature of partnership. 

15. (a) Explain the Liabilities of partners. 

Or 

 (b) Write about the Insolvency of Court. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain types of contracts with suitable examples. 

17. “A minor’s property is liable to necessaries supplied to 
him” Explain. 

18. Discuss the rights and duties of finder of lost goods. 

19. Define a contract of sale of goods. Distinguish between 
sale and agreement to sell. 

20. Describe the Mode of Settlement of Accounts. 

—————— 



  

D–1675   

DISTANCE EDUCATION 

COMMON FOR M.Com./ M.Com. (F & C)  
DEGREE EXAMINATION, MAY 2023. 

First Semester 

ADVANCED ACCOUNTING  

(CBCS – 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What are the  subsidiary books? Explain it with format. 

 xøn÷¯kPÎß ÁøPPøÍ ©õv› £iÁzxhß ÂÍUS. 

2. What is Journal? 

 SÔ¨÷£k GßÓõÀ GßÚ? 

3. Give the meaning of net worth method. 

 {Pμ ©v¨¦ •øÓ°ß ö£õ¸Ò u¸P. 

4. What are the types of errors? 

 ¤øÇPÎß ÁøPPÒ ¯õøÁ? 

5. What is retiring a bill?  

 ö\¾zv¯ Esi¯À GßÓõÀ GßÚ? 

6. What is average clause?  

 \μõ\› \μzx GßÓõÀ GßÚ? 
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7. What is Bank Reconciliation Statement?  

 Á[Qa \›UPmk AÔUøP GßÓõÀ GßÚ? 

8. Write short notes on ‘work certified’. 

\õßÓÎUP¨£mh £o Gß£x £ØÔ ]Ö SÔ¨¦ u¸P. 

9. Make a note on instalment purchase system.  

uÁøn öPõÒ•uÀ •øÓ £ØÔ SÔ¨¦ ÁøμP. 

10. What do you mean by  Consignment?  

 AÝ¨¥k SÔzx }Âº AÔÁx ¯õx? 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain the differences between trial balance and 
balance sheet. 

  C¸¨£õ´ÄUS®, C¸¨¦ {ø»U SÔ¨¦US® EÒÍ 
÷ÁÖ£õkPøÍ ÂÍUQ TÖP. 

Or 

 (b) Pass Journal entries for the following Transactions : 

  (i) Ram started business with cash Rs. 10,000 

  (ii) Purchased furniture for cash Rs. 4,000 

  (iii) Paid Rent Rs. 500  

  (iv) Purchased goods on credit Rs. 10,000 

  (v) Depreciation on Furniture Rs. 2,000. 

  RÌUPsh |hÁiUøPPÐUS SÔ¨÷£mk £vÄ u¸P : 

  (i) μõ® ¹.10,000 öμõUPzxhß öuõÈÀ öuõh[QÚõº 

  (ii) ¹. 4,000 öμõUPzvØS AøÓP»ß Áõ[Q¯x 
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  (iii) ÁõhøP ö\¾zv¯x ¹.500  

  (iv) PhÛÀ ¹.10,000 US \μUS Áõ[Q¯x 

  (v) AøÓP»ß «x ÷u´©õÚ® ¹.2,000.  

12. (a) What are the features of Joint Venture? 

  CønÂøÚ°ß ußø©PÒ ¯õøÁ? 

Or 

 (b) Calculate total Purchases : 

  Cash Purchases – Rs. 8,500 

  Cash paid to creditors – Rs. 15,500 

  Creditors on 1.1.2020 – Rs. 4,000 

  Purchases returns – Rs. 500 

  Creditors on 31.12.2020 – Rs. 6,700 
  ö©õzu öPõÒ•uÀ PõsP : 

  öμõUP öPõÒ•uÀ – ¹. 8,500 

  PhÜ¢÷uõºUS AÎzu öμõUP® – ¹. 15,500 

  öuõhUP PhÜ¢÷uõº 1.1.2020 – ¹. 4,000  

  öPõÒ•uÀ v¸¨£® – ¹. 500 

  CÖv PhÜ¢÷uõº 31.12.2020 – ¹. 6,700 

13. (a) What are the advantages of promissory notes?  

  EÖv ö©õÈ uõÎß |ßø©PÒ ¯õøÁ? 

Or 

 (b) X has purchased goods, the due dates of which on as 
follows : 

  (i) Rs. 500 due 5.07.2019 

  (ii) Rs. 850 due 10.08.2019 

  (iii) Rs. 350 due 25.09.2019  

  (iv) Rs. 650 due 10.11.2019 

  Ascertain average due date. 
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  X öPõÒ•uÀ ö\´u öuõøP²®, uÁøn ÷uv²® 
¤ßÁ¸©õÖ : 

  (i) ¹. 500 uÁøn |õÒ 5.07.2019 

  (ii) ¹. 850 uÁøn |õÒ 10.08.2019 

  (iii) ¹. 350 uÁøn |õÒ 25.09.2019  

  (iv) ¹. 650 uÁøn |õÒ 10.11.2019 

  \μõ\› uÁøn |õøÍU PnUQhÄ®. 

14. (a) Explain the causes of depreciation.  

  ÷u´©õÚzvØPõÚ Põμnzøu ÂÍUSP. 

Or 

 (b) From the following details, prepare Madurai Branch 
a/c. 

  Goods sent to branch  Rs. 22,500 

  Cash from branch  Rs. 30,000 

  Petty cash –  Opening Rs. 30 

  Petty cash –  Closing Rs. 20  

  Cash sent for branch exp.  Rs. 4,200 

  Closing stock   Rs. 2,900 

  RÌUPsh uPÁÀPÒ ‰»® ©xøμ QøÍ P/S u¯õº 
ö\´P. 

  QøÍUS AÝ¨¤¯ \μUS  ¹. 22,500 

  QøÍ°hª¸¢x ö£ØÓ öμõUP®  ¹. 30,000 

  ]À»øÓ öμõUP® – öuõhUP® ¹. 30 

  ]À»øÓ öμõUP® – CÖv ¹. 20  

  QøÍ ö\»ÄUS öμõUP®  ¹. 4,200 

  CÖv \μUQ¸¨¦   ¹. 2,900 
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15. (a) Explain – over draft model. 

  ÂÍUS – ÷©ÀÁøμ £ØÖ •øÓ. 

Or 

 (b) Mr. Anand purchased a machine under hire 
purchase system. The terms are as follows. Cash 
price 14,900 Down payment and three annual 
installments Rs. 4,000 each. Interest included in 
installment is 5% p.a. Calculate the interest.  

  BÚ¢z Gß£Áº ÁõhøP öPõÒ•uÀ Âø»°À J¸ 
C¯¢vμ® Áõ[QÚõº ¤ßÁ¸® Â£μ[PÒ. 

  öμõUP Âø» – 14,900, EhÚi öuõøP ©ØÖ® ‰ßÖ 
Bsk uÁøn öuõøP ¹. 4,000. Ámi – uÁøn 
JßÖUS 5% Ámiø¯ PõsP. 

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Prepare a bank reconciliation statement as on 30.09.2020 

 (a) Balance as per pass book (or) Rs. 9,000 

 (b) Cheques issued but not presented Rs. 15,000 

 (c) Cheques deposited but not credited Rs. 1,500 

 (d) The credit side of the cash column has been over 
added by Rs. 500 

 (e) Banker has given credit in the pass book for interest 
Rs. 150 

 (f) He has also given a wrong credit relating to some 
other a/c Rs. 300. 
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 30.09.2020 UPõÚ Á[Q \›UPmk® £mi¯À u¯õ›UPÄ®. 

 (A) ö\¾zx ¦zuPzvß £i¯õÚ C¸¨¦ (ÁμÄ ¹. 9,000 

 (B) ÂkUP¨£mk BÚõÀ •ßÛh¨£hõu Põ÷\õø»PÒ 
¹.15,000 

 (C) øÁ¨¦ ö\´¯¨£mk BÚõÀ ÁμÄ øÁUP¨£hõu 
Põ÷\õø»PÒ ¹.1,500 

 (D) öμõUP¨ £zv°À ÁμÄ¨ £Sv°À ¹.500 AvP©õPU 
Tmh¨£mkÒÍx 

 (E) Á[Q¯º ö\¾zx ¦zuPzvÀ ÁmiUPõP ¹. 150 ÁμÄ 

 (F) AÁº ÷ÁöÓõ¸ PnUS öuõhº£õÚ uÁÓõÚ ÁμÄ 
JßÔø¯²® ¹.300 US öPõkzxÒÍõº. 

17. From the following Trial Balance of Mr. X, prepare 
Trading and P/L a/c and Balance Sheet as on 31.12.19. 

Trial Balance  

 Dr. 
Rs. 

Cr. 
Rs. 

Capital – 60,000

Sales  – 35,000

Purchases 20,000 

Salaries 3,000 

Rent 2,000 

Insurance 500 

Drawings 6,000 

Machinery 30,000 

Debtors 5,000 
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 Dr. 
Rs. 

Cr. 
Rs. 

Creditors – 2,000

Cash 22,500 

Stock 7,000 

Bad debts 1,000 

 97,000 97,000

 Adjustments : 

 (a) Stock on hand 31.12.19 Rs. 5,000 

 (b) Salaries owing Rs. 500 

 (c) Rent paid in advance Rs. 500 

 (d) Insurance paid in advance Rs. 200 

 (e) Depreciation Machinery by 10% 

 (f) During December Mr. X took Rs. 500 in goods. 

 v¸. X Gß£Áº ¤ßÁ¸® C¸¨£õ´Â¼¸¢x 31.12.2019 
BsiØPõÚ Â¯õ£õμ C»õ£ |mh P/S ©ØÖ® 
C¸¨¦{ø» SÔ¨ø£ u¯õ›UPÄ®. 

C¸¨¦{ø» SÔ¨¦  

 £ØÖ  
¹. 

ÁμÄ  
¹. 

•uÀ – 60,000

ÂØ£øÚ – 35,000

öPõÒ•uÀ 20,000 

\®£Í® 3,000 
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 £ØÖ  
¹. 

ÁμÄ  
¹. 

ÁõhøP 2,000 

Põ¨¥k 500 

Gk¨¦ 6,000 

C¯¢vμ® 30,000 

PhÚõÎPÒ 5,000 

PhÜ¢÷uõºPÒ – 2,000

öμõUP® 22,500 

\μUQ¸¨¦  7,000 

ÁμõUPhß 1,000 

 97,000 97,000

 \›UPmkuÀPÒ : 

 (A) i\®£º 31.12.2019 \μUQ¸¨¦ ¹. 5,000 

 (B) \®£Í® öPõk£h ÷Ási¯x ¹. 500  

 (C) ÁõhøP •ßTmi ö\¾zv¯x ¹. 500 

 (D) Põ¨¥k •ßTmi ö\¾zv¯x ¹. 200 

 (E) C¯¢vμ® 10% ÷u´©õÚ® 

 (F) v¸. X Gß£Áº i\®£›À ¹. 500 \μUøP Gkzuõº.  
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18. Explain the differences between income and expenditure 

a/c and receipts-payments a/c 

 ÁμÄ ö\»Ä PnUQØS® ö£ÖuÀ ö\¾zuÀ PnUQØS® 

EÒÍ ÷ÁÖ£õkPøÍ ÂÍUSP. 

19. ABC firm has two departments, X and Y. Y dept 

manufactured at goods supplied by the X dept at its usual 

selling price. From the following prepare departmental 

Trading, profit and loss a/c for the year 31.12.2020. 

 X Dept. Y Dept. 

Opening stock 3,60,000 60,000

Purchases 29,00,000 20,000

Sales 35,00,000 7,00,000

Transfer to Y dept  4,50,000                – 

Manu-expenses          – 1,40,000

Closing stock 1,00,000 48,000

 General expenses for both departments were  

Rs. 1,20,000. 

 The stock in the Y debt. may be considered as consisting 

of  66 3
2 % of X dept. goods and 33 3

1 % other expenses. The 

X dept. earned profit @18% in 2020. 
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 ABC GßÓ {Ö©® C¸ xøÓPøÍ EÒÍhUQ¯x.  

Y xøÓ¯õÚx uÚUS ÷uøÁ¯õÚ ö£õ¸mPøÍ X 
xøÓ°¼¸¢x Chõ¨¦ Âø»°À ©õØÔU öPõÒQÓx. R÷Ç 
öPõkUP¨£mh Â£μzvÀ 31.12.2020 Bsiß xøÓÁõ›, 
Â¯õ£õμ C»õ£ |mh PnUøP u¯õº ö\´P. 

 X xøÓ Y xøÓ 

Bμ®£a \μUS 3,60,000 60,000

öPõÒ•uÀ 29,00,000 20,000

ÂØ£øÚ 35,00,000 7,00,000

Y US ©õØÓ® 4,50,000                – 

EØ£zv ö\»Ä          – 1,40,000

CÖv \μUS 1,00,000 48,000

 ö£õx ö\»ÄPÒ Cμsk xøÓUS® ÷\ºzx ¹. 1,20,000  

Y xøÓ°¾ÒÍ \μUQÀ 66 3
2 % X xøÓ \μUQÀ 33 3

1 % Cuμ 

ö\»ÄPÐ® Ah[Q²ÒÍx. X xøÓ 2020 À ö£ØÓ C»õ£ 
ÂQu® 18%  BS®. 

20. Differentiate between joint venture and sale. 

 CønÂøÚUS® ÂØ£øÚUS©õÚ ÷ÁÖ£õkPÒ ¯õøÁ? 

———————— 

  



  

D–1676   

DISTANCE EDUCATION 

Common for M.Com./M.Com. (F&C) DEGREE 
EXAMINATION, MAY 2023. 

First Semester 

BUSINESS ENVIRONMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A —   (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define the term Business Environment. 

 ÁoPa _ØÖa`ÇÀ GÝ® £uzøu Áøμ¯ÖUP. 

2. What is economic system? 

 ö£õ¸Íõuõμ •øÓø© GßÓõÀ GßÚ? 

3. What is Capitalism? 

 •u»õÎzxÁ® GßÓõÀ GßÚ? 

4. What is meant by Economic Planning? 

 ö£õ¸Íõuõμ vmhªkuÀ GßÓõÀ GßÚ? 

5. What do you mean by Patent? 

 Põ¨¦›ø© £ØÔ }Âº AÔÁx GßÚ? 

6. What do you mean by Trade Mark? 

 ÁoPSÔ £ØÔ }Âº AÔÁx GßÚ? 

Sub. Code 
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7. Who is a Consumer? 

 ~Pº÷Áõº Gß£Áº ¯õº? 

8. What do you mean by FDI? 

FDI £ØÔ }Âº AÔÁx GßÚ? 

9. What is meant by MNC? 

MNC £ØÔ AÔÁx GßÚ? 

10. Write short note on International Environment. 

 A¯À|õmk _ØÖ¨¦Óa`ÇÀ SÔzx ]ÖSÔ¨¦ ÁøμP. 

PART B  —   (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain the various factors affecting the internal 
environment. 

  EÒ _ØÖz`Çø» £õvUS® £À÷ÁÖ PõμoPøÍ 
ÂÁõvUP. 

Or 

 (b) State the arguments for social responsibility of 
business. 

  ÁoPzvß \•uõ¯¨ ö£õÖ¨¦PÐUP \õuP©õÚ 
Áõu[PøÍU TÖP. 

12. (a) What are the difference between capitalism and 
socialism? 

  •u»õÎzxÁzvØS® ©ØÖ® ö£õx Eøhø© 
•øÓUS® EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ?  

Or 

 (b) State any five major achievements of economic 
planning in India. 

  C¢v¯õÂß ö£õ¸Íõuõμ vmhªku¼ß •UQ¯ 
\õuøÚPÎÀ H÷uÝ® I¢vøÚ TÖP. 
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13. (a) What are the features of industry policy resolution 
1948? 

  öuõÈÀ öPõÒøP wº©õÚ® 1948&ß A®\[PÒ 
¯õøÁ? 

Or 

 (b) What are the features of companies Act 1956? 

  {Ö©a \mh® 1956&ß A®\[PÒ ¯õøÁ?  

14. (a) Analyse the need for a consumer movement. 

  ~Pº÷Áõº C¯UPzvß ÷uøÁPøÍ £S¨£õ´Ä ö\´P. 

Or 

 (b) What are the advantages of MNC? 

  £ßÚõmkU PÇPzvß |ßø©PÒ ¯õøÁ? 

15. (a) Distinguish between GATT and WTO. 

  GATT ©ØÖ® WTO I ÷ÁÖ£kzxP. 

Or 

 (b) State the relationship between population and 
economic growth. 

  ©UPÒ öuõøP ©ØÖ® ö£õ¸Íõuõμ 
ÁÍºa]UQøhø÷¯²ÒÍ EÓÄPøÍ TÖP. 

PART C  —   (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the arguments for and against social 
responsibility of business. 

 ÁoPzvß \•uõ¯¨ö£õÖ¨¦PÐUS \õuP©õP ©ØÖ® 
£õuP©õÚ Áõu[PøÍ ÂÁ›UP. 
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17. Describe the various reasons for failure of economic 
planning in India. 

 C¢v¯õÂß ö£õ¸Íõuõμ vmhªku¼ß ÷uõÀÂUPõÚ 
£À÷ÁÖ Põμn[PøÍ ÂÍUSP. 

18. Bring out the problems of public and private sector in 
India. 

 C¢v¯õÂÀ ö£õx ©ØÖ® uÛ¯õº xøÓPÎß ]UPÀPøÍ 
öÁÎUöPõnºP. 

19. Explain the regulations of foreign investment. 

A¢v¯ •u½miß JÊ[S•øÓPøÍ ÂÍUSP. 

20. Enumerate the various functions of world bank. 

 E»P Á[Q°ß £À÷ÁÖ £oPøÍ ÂÁõvUP. 

  

———————— 



  

D–1690     

DISTANCE EDUCATION 

M.Com. (F & C) DEGREE EXAMINATION, MAY 2023 

Second Semester 

OPERATIONS RESEARCH 

(CBCS 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What are the limitations of O.R any two? 

2. Define basic feasible solution. 

3. What is travelling salesman problem? 

4. What is sensitivity analysis? 

5. What is CPM? 

6. What is duality? 

7. Write short note on game theory. 

8. What is penalty cost method? 

9. What is assignment problem? 

10. What is simulation? 
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SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. Choosing either (a) or (b) 

11. (a) What are the types of O.R Model? 

Or 

 (b) Explain big M-method. 

12. (a) Find the minimum value of L.P.P. 

  
,132

2,5

21

2

≥+
−=
xx
xxZ

 

  0, 21 ≥xx   

Or 

 (b) Solve the following optimal solution of the 
transportation problem. 

  50 20

55    

30 35  25

13. (a) Solve the following linear programming problem 
graphically. 

  Max yxz 32 += ; 

Sub :  

0,
,142
,102

≥
≤+
≤+

yx
yx
yx

 

Or 

 (b) What are the limitation of O.R?  
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14. (a) Explain PERT. 

Or 

 (b) Explain the terms queue discipline. 

15. (a) What are advantages of simulation technique? 

Or 

 (b) Solve the following games by reducing them to 2 × 2 
games by graphical method 

3 0 6 –1 7

–1 5 –2 2 1

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions 

16. Solve the following 2 × 4 game by graphical method. 

  Player B 

  I II III IV

Player B I 2 1 0 –2

 II 1 0 3 2 

 

17. Find an optimal solution to the following transportation 
cost problem 

  Destination  

  X Y Z Supply

 A 2 7 4 50 

 B 3 3 7 70 

Source C 5 4 1 80 

 D 1 6 2 140 
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 Demand 70 90 180  

18. What is OR? Describe briefly it’s applications. 

19. Solve the Following LPP by simplex method.  

Maximize  3212 xxxz ++= , 

 

0,,

4532

1463

8364

321

321

321

321

≥
≤−+
≤−−
≤++

xxx
xxx
xxx
xxx

 

20. What is simulation? Describe the simulation process.  

  

–––––––––––– 
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DISTANCE EDUCATION 

M.Com.(F&C) DEGREE EXAMINATION, MAY 2023. 

Second Semester 

ORGANIZATIONAL BEHAVIOUR  

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What are the key elements of organizational behaviour? 

2. Define Personality. 

3. What is Halo effect? 

4. Define Learning. 

5. What is meant by a Reference Group? 

6. What is meant by dominant culture? 

7. Define Conflict. 

8. What is meant by coercive power? 

9. What is Emotional intelligence? 

10. What is knowledge Management? 

Sub. Code 
33522 
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SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b) 

11. (a) State briefly the objectives of organizational 
Behaviour. 

Or 

 (b) Explain the important determinants of personality. 

12. (a) Explain the determinants of Learning.  

Or 

 (b) What are the characteristics of attitudes? 

13. (a) What are the reasons for the formation of group?  

Or 

 (b) Explain the relationship between conflict and 
performance. 

14. (a) Explain the types of emotions.  

Or 

 (b) Explain the indicators of power and powerlessness. 

15. (a) Explain the types of communication.  

Or 

 (b) Explain the directions of communication. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the important concept of organizational 
Behaviour. 

17. Discuss in detail the various stages involved in the 
process of perception. 
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18. Explain the various types of groups. 

19. Explain the factors that provide scope for organizational 
politics. 

20. Discuss the dimensions of knowledge management. 

  

––––––––––––––– 
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DISTANCE EDUCATION 

Common for M.Com./M.Com. (F&C) DEGREE 
EXAMINATION, MAY 2023. 

Second Semester 

ADVANCED COST ACCOUNTING 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is cost Accounting? 

 AhUP Âø» PnUQ¯À GßÓõÀ GßÚ? 

2. What do you mean by prime cost? 

 •ußø© ö\»ÄPÒ £ØÔ AÔÁx GßÚ? 

3. What is process costing? 

 £i•øÓ PnUS GßÓõÀ GßÚ? 

4. Write a note on over absorption of overheads. 

 AvP¨£i¯õÚ ÷©Øö\»Ä «m¦ £ØÔ SÔ¨¦ ÁøμP. 

5. State Fixed and Variable Cost. 

 {ø»zu ©ØÖ® ©õÖ£k® ö\»ÄPÒ £ØÔ TÖP. 

Sub. Code 
31023/33523
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6. State any two difference between Financial Accounting 
and Cost Accounting. 

 {v{ø»U PnUQ¯¾US®, AhUP Âø» PnUQ¯¾US® 
Cøh÷¯ EÒÍ ÷ÁÖ£õkPÒ CμsiøÚ GÊxP. 

7. What is Abnormal loss? 

 A\õuõμn |mh® GßÓõÀ GßÚ? 

8. Write a short note on work uncertified. 

\õßÔuÌ ÁÇ[P¨£hõu £o £ØÔ SÔ¨¦ ÁøμP. 

9. Define ‘Standard Hour’. 

{ºn°UP¨£mh ©o ÷|μ® Áøμ¯Ö. 

10. What is reconciliations statement? 

 \›UPmk® £mi¯À GßÓõÀ GßÚ? 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Prepare a cost sheet form the following 

  Raw materials consumed Rs. 1,20,000 

  Direct wages     Rs. 30,000 

  Works expenses is charged at 100% of wages. office 
overheads is charged at 25% on works cost and 
selling overheads at 10% of cost of production. 

  RÌUPshÁØÔ¼¸¢x J¸ AhUPÂø»¨ £mi¯À 
u¯õº ö\´P. 

  ‰»¨ ö£õ¸Ò ~PºÄ  ¹. 1,20,000 

  ÷|μiU T¼  ¹. 30,000 

  öuõÈØ\õø» ö\»ÄPÒ T¼°À 100% •® A¾Á»P 
ö\»ÄPÒ öuõÈØ\õø» AhUPzvÀ 25% •® 
ÂØ£øÚ ö\»ÄPÒ EØ£zv AhUPzvÀ 10%•® 
AÝ©vUP¨£mhx. 

Or 

 (b) What are the advantages of Cost Accounting? 

  £o AhUPÂø» •øÓ°ß |ßø©PÒ ¯õøÁ? 
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12. (a) In process ‘A’ 1000 units of raw material were 
introduced at Rs. 10 per unit The other expenses 
incurred in this process were Rs. 602. Of the units 
were introduced, 10% are normally lost in the 
course of manufacturer and its scrap value is sold 
for Rs.3 per unit The output of process A’ was only 
750 units. Prepare process accounts and  abnormal 
loss. 

  1000 A»SPÒ ‰»¨ö£õ¸Ò JßÖ ¹.10 Ãu® 
£i•øÓ ‘A’&À AÔ•P¨£mhx. C¢u £i•øÓ°À 
ö\´u ©ØÓ ö\»ÄPÒ ¹.602 AÔ•P¨£kzu¨£mh 
A»SPÎÀ 10% \õuõμn |mh©õS®. PÈ¨¦¨ 
ö£õ¸ÒPÒ A»S JßÖUS ¹.3 Ãu® ÂØ£øÚ 
ö\´¯¨£kQßÓÚ. £i•øÓ ‘A’&À EØ£zv 
ö\´¯¨£mh A»SPÒ 750. £i{ø»U PnUS ©ØÖ® 
A\õuõμn |mhzøuU PnUQkP. 

Or 

 (b) What are the advantages of Job costing System? 

  £o AhUPÂø» •øÓ°ß |ßø©PÒ ¯õøÁ? 

13. (a) Enumerate the different classification of overheads. 

  £À÷ÁÖ ÁøP¯õÚ ÷©Øö\»ÄPøÍ ÂÍUSP. 

Or 

 (b) The following are the information relating to 
contract No.104. 

 Rs.

Contract price 6,00,000

Wages 1,64,400

General expenses 8,600

Raw materials 1,20,000

Plant 20,000

  As on date cash received was Rs. 2,40,000 being 
80% work certified. The value of materials 
remaining at site was Rs. 10,000. Depreciate plant 
by 10%. Prepare contract account. 
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  ¤ßÁ¸® Â£μ[PÒ J¨£¢u ÷Áø» 104&US›¯x.  

 ¹.

J¨£¢u öuõøP 6,00,000
T¼ 1,64,400
ö£õxa ö\»ÄPÒ 8,600
‰»¨ö£õ¸Ò 1,20,000
C¯¢vμ® 20,000

  CßøÓ¯ ÷uv°ß •iÂÀ ¹. 2,40,000 öμõUP® 
ö£Ó¨£mkÒÍx. CzöuõøP \õßÔuÌ ÁÇ[P¨£mh 
öuõøP°À 80% BS®. CÖv°À 
£¯ß£kzu¨£hõ©À Gg]²ÒÍ ‰»¨ö£õ¸Ò  
¹. 10,000. C¯¢vμzvß «x 10% ÷u´©õÚ® GÊu 
÷Ásk®. J¨£¢uU PnUøPz u¯õ›UPÄ®. 

14. (a) What do you understand by Economics Batch 
quantity? 

  ö£õ¸Íõuõμ öuõSv AÍÄ £ØÔ }Âº AÔ¢ux 
GßÚ? 

Or 

 (b) From the following data relating to a vehicle 
compute the cost per km running 

  Rs.

Kilometers run – 15,000 km

Cost of vehicle – 25,000

Road license (annual) – 750

Insurance (annual) – 700

Driver’s wages per hour – 3

Cost of fuel per Litre – 3

Kms. Run per litre – 20km

Vehicle run per hour – 20 km

Expected life of vehicle – 1,00,000 km

  Charge interest at 5% p.a. on the cost of vehicle. 
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  ¤ßÁ¸® Â£μ[PÎ¼¸¢x J¸ ÁõPÚ Kmhzvß 
J¸ Q.«. AhUPzøu Psk¤iUPÄ® 

  ¹.

Q.«. Kmh® – 15,000 km
ÁõPÚ AhUP® – 25,000
\õø» Á› (Á¸h®) – 750
Põ¨¥k (Á¸h®) – 700
Kmk|º T¼ 1 ©oUS – 3
G› ö£õ¸Ò ö\»Ä 1 ¼mhº – 3
1 ¼mh¸UPõÚ Q.«. Kmh® – 20km
ÁõPÚ Kmh® 1 ©oUS – 20 km
ÁõPÚ B²Ò Po¨¦ –1,00,000 km

  Ámi 5% Á¸h® JßÖUS GßÓ ÂQuzvÀ ÁõPÚ 
AhUPzvÀ Psk¤i. 

15. (a) State the advantages of cost control 

  AhUP Âø» Pmk¨£õmiß |ßø©PøÍU TÖP. 

Or 

 (b) From the following particulars, calculate profit as 
per financial accounts. 

  (i) Profit as per cost accounts Rs. 1,50,000 

  (ii) Works overhead under recovered in costing  
Rs. 8,000 

  (iii) Administration overheads over recovered in 
costing Rs. 4,000 

  (iv) Interest received Rs. 1,200 

  (v) Income tax paid Rs.4,000 
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  ¤ßÁ¸® ö\´vPøÍU öPõsk {v{ø»U 
PnUQ¯¼ß C»õ£zøuU PnUQhÄ®. 

  (i) AhUPÂø»U PnUQ¯¼ß £i C»õ£®  
¹. 1,50,000 

  (ii) öuõÈØ\õø» ö\»ÄPÒ AhUPÂø»U PnUQÀ 
¹. 8,000 SøÓÁõP EÒÍx. 

  (iii) {ºÁõPa ö\»ÄPÒ AhUPÂø»U PnUQÀ  
¹. 4,000 AvP® EÒÍx 

  (iv) Ámi ö£ØÓx ¹. 1,200 

  (v) Á¸©õÚ Á› ö\¾zv¯x ¹.4,000 

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the objectives of cost accounting. 

 AhUPÂø» PnUQ¯¼ß ÷|õUP[PøÍ ÂÍUSP. 

17. What are the differences between cost Accounting and 
Financial Accounting? 

 AhUPÂø»U PnUQ¯¾US®, {v{ø»U PnUQ¯¾US® 
EÒÍ ÷ÁÖ£õk ¯õøÁ? 

18. In a factory there are two service departments P and Q 
and three production departments A, B, C. In April 1992, 
the departmental expenses Were: 

Departments  A B C P Q 

Rs. 6,50,000 6,00,000 5,00,000 1,20,000 1,00,000

 The expenses of the service department are allotted on a 
percentage basis as follows: 

 A B C P Q 

I 30% 40% 15% – 15%

II 40% 30% 25% 5% – 
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 Prepare a statement showing the distribution of the 
expenses of the two services departments to the 
production departments on the basis of repeated 
distribution method. 

 J¸ öuõÈØThzvÀ P, Q GßÝ® Cμsk ÷\øÁ 

xøÓPÐ® A, B, C GßÝ® ‰ßÖ EØ£zvz xøÓPÐ® 
EÒÍÚ. H¨μÀ 1992&À xøÓÁõ› ö\»ÄPÒ Á¸©õÖ: 

xøÓPÒ A B C P Q 

¹. 6,50,000 6,00,000 5,00,000 1,20,000 1,00,000

÷\øÁ xøÓPÎß ö\»ÄPÒ RÌPshÁõÖ \u©õÚ 
•øÓ°À £SUP¨£kQßÓÚ. 

 A B C P Q 

I 30% 40% 15% – 15%

II 40% 30% 25% 5% – 

 ÷©ØUTÔ¯ ö\»ÄPøÍ Â{÷¯õP® ö\´¯ Kº AÔUøP 
u¯õº ö\´x. v¸®£ v¸®£ HØ£k® £Qº©õÚ •øÓ°À 
÷\øÁ {ÖÁÚzvß ö\»ÄPøÍ EØ£zv £Qº¢uÎUPÄ®. 

19. A contract for a building is marked at Rs. 40,00,000 and 
works were commenced in 1st February 2011. 

 Rs. 

Building materials spent 12,00,000 

Wages paid 16,44,000 

Plant 2,00,000 

Other charges 86,000 
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 Cash received on account to 31st December, 2011 was 
Rs.27,00,000. Work completed and certified were 
Rs.30,00,000. Work uncertified Rs.50,000. Allow 10% 
depreciation on plant. Show the Contract Account. 

 J¸ Pmhm J¨£¢u® ¹.40,00,000&US GÊu¨£mk, £oUS 
1 ¤¨μÁ› 2011&À öuõh[Q¯x.  

 ¹.

Pmk® ö£õ¸mPÒ ö\»Ä 12,00,000 
T¼ ö\¾zv¯x 16,44,000 
C¯¢vμ® (AhUP Âø») 2,00,000 
¤Ó Pmhn[PÒ 86,000 

 PnUQÀ 31 i\®£º 2011 •i¯ ö£ØÖU öPõsh öμõUP® 
¹.27,00,000. •iUP¨£mh ÷Áø»°À \õßÓÎUP¨£mhx 
¹.30,00,000. \õßÓÎUP¨£mh ÷Ási¯x ¹.50,000. 
C¯¢vμzvß «x 10% ÷u´©õÚ® PnUQhÄ®, J¨£¢uU 
PnUøPU PõmkP. 

20. Under Time rate, Piece rate, Halsey plan and Rowman 
plan, Calculate the earnings of a worker.  

 Time allowed 100 hours. Time taken 90 hours. Daily 
wage rate is at Rs.40 per hour. 

 ÷|μ Ãu®, E¸¨£i Ãu®, íõÀ÷\ vmh® ©ØÖ® ÷μõÁõß 
vmh® ‰»©õP £o¯õÍ›ß Fv¯® PnUQhÄ®. 

 öPõkUP¨£mh ÷|μ® 100 ©oPÒ, ö\´x •izu ÷|μ® 90 
©oPÒ vÚUT¼¯õP J¸ ©o ÷|μzvØS T¼ Ãu® 
¹.40. 

———————— 
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FINANCIAL SERVICES 

(CBCS 2018-19 Academic Year onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is financial Innovation?  

 {v°¯À ¦x¨¤zuÀ GßÓõÀ GßÚ? 

2. What is Money market?  

 £na\¢øu GßÓõÀ GßÚ? 

3. What is secondary market?  

 Cμshõ® {ø» \¢øu GßÓõÀ GßÚ? 

4. Define - stock exchange.  

 £[S £›©õØÓ®  Áøμ¯Ö.  

5. What is issue market?  

 öÁÎ±k \¢øu GßÓõÀ GßÚ? 

6. What is hire purchase agreement?  

 ÁõhøP öPõÒ•uÀ Ehß£iUøP GßÓõÀ GßÚ? 

Sub. Code 
31024/33524
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7. What is venture capital?  

 ÂøÚ •uÀ GßÓõÀ GßÚ? 

8. Define - merchant banking.  

 ÁoPzxÁ Á[Q°¯À & Áøμ¯Ö.  

9. What is Housing finance?  

 Ãhø©¨¦ {v GßÓõÀ GßÚ? 

10. Define - credit rating.  

 Phß ©v¨¥k & Áøμ¯Ö.  

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. Choosing either (a) or (b). 

11. (a) Explain the various facets of financial services. 

  {v ÷\øÁPÎß £À÷ÁÖ A®\[PøÍ ÂÁ›.  

Or 

 (b) What are the objectives of Indian capital market?  

  C¢v¯ ‰»uÚ \¢øu°ß öPõÒøPPÒ ¯õøÁ?  

12. (a) Discuss the various speculative Transactions?  

  FP £›©õØÓzvß £À÷ÁÖ ÁøPPøÍ ÂÍUSP.  

Or 

 (b) Explain about Role of SEBI. 

  C¢v¯ £[S ©õØÖ Áõ›¯zvß (SEBI) £[QøÚ 
ÂÁ›.  

13. (a) What are the functions of Issue mechanism?  

  C¯¢vμ•øÓ öÁÎ±miß £oPÒ ¯õøÁ?  

Or 
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 (b) Explain the goods of commercial banking.  

  ÁoP Á[Q¯¼ß ÷|õUP[PøÍ ÂÍUSP. 

14. (a) Discuss the types of mutual funds.  

  £μì£μ {v°ß ÁøPPøÍ ÂÁ›. 

Or 

 (b) Explain the guidelines of consumer finance.  

  ~Pº÷Áõº {v°ß ÁÈPõmkuø» ÂÍUSP. 

15. (a) Explain the different types of Export finance.  

  HØÖ©v {v°ß ÁøPPøÍ Â›ÁõP ÂÍUSP. 

Or 

 (b) Explain the role of NBFCS. 

  NBFCS &°ß £[QøÚ ÂÍUSP 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions  

16. Distinguish between financial services and market 
environment.  

 {v ÷\øÁPÒ ©ØÖ® _ØÖ¦Ó `ÇÀ \¢øu°ß 
÷ÁÖ£õkPøÍ Â›ÁõP ÂÍUSP.  

17. Explain the regulation of stock exchange.  

 £[S £›©õØÓzvß ÁÈ•øÓPøÍ ÂÍUSP.  
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18. Discuss about components of hire purchase contract.  

 ÁõhøP öPõÒ•uÀ J¨£¢u[PÎß TÖPøÍ ÂÍUSP.  

19. Explain the power of national/housing bank.  

 ÷u]¯ Ãhø©¨¦ Á[Q°ß AvPõμ[PøÍ Â›ÁõP 
ÂÍUSP. 

20. Explain the functions of chit fund companies and finance 
companies.  

 ^mk {v {Ö©® ©ØÖ® {v {Ö©® CÁØÔØQøh÷¯ EÒÍ 
£oPøÍ ÂÍUSP. 

––––––––––––– 
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DISTANCE EDUCATION 

Common for M.Com./M.Com. (F&C) DEGREE 
EXAMINATION, MAY 2023. 

Third Semester 

INVESTMENT ANALYSIS AND PORTFOLIO 
MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL the questions 

1. Define the term “Investment”. 

 •u½k GÝ® £uzøu Áøμ¯ÖUP. 

2. What is meant by Speculation? 

 FPÁoP® £ØÔ AÔÁx ¯õx? 

3. Expand: (a) BSE (b) SEBI  

 Â›ÁõUSP (A)  BSE (B) SEBI 

4. What is meant by Listing of Securities?  

 ¤øn¯[PøÍ £mi¯¼kuÀ £ØÔ AÔÁx ¯õx? 

5. Define Listing. 

 Áøμ¯ÖUP : £mi¯¼kuÀ. 

Sub. Code 
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6. What is meant by technical analysis? 

 öuõÈÀ~m£ £S¨£õ´Ä £ØÔ AÔÁx ¯õx? 

7. What is Fundamental Analysis? 

 Ai¨£øh £S¨£õ´Ä GßÓõÀ GßÚ? 

8. What do you mean by price earnings ratio?  

 Âø» Á¸Áõ´ ÂQu® £ØÔ }Âº AÔÁx ¯õx? 

9. What is CAPM? 

 CAPM GßÓõÀ GßÚ? 

10. What is meant by Optimal Portfolio? 

 EP¢uxøÓ £ØÔ AÔÁx ¯õx? 

PART B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) State the important features of investment 
programme.  

•u½mkz vmhzvß •UQ¯©õÚ A®\[PøÍU TÖP. 

Or 

 (b)  Differentiate investment with gambling. 

•u½møh `uõmhzxhß ÷ÁÖ£kzxP. 

12. (a) What are the factors that determine returns?  

  Á¸©õÚzøu wº©õÛUS® PõμoPÒ ¯õøÁ? 

  

Or 

 (b)   How does SEBI regulate the Secondary market? 

Cμshõ®{ø» \¢øuø¯ G¨£i SEBI 
•øÓ¨£kzxQÓx? 
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13. (a) Write short notes on: Market Indicators.  

  ]ÖSÔ¨¦ ÁøμP : \¢øu SÔUPõmiPÒ. 

Or 

 (b)   Write a note on Industrial analysis. 

]ÖSÔ¨¦ ÁøμP : öuõÈØxøÓ £S¨£õ´Ä. 

14. (a) Distinguish between technical analysis and 
fundamental analysis.  

öuõÈÀ~m£ £S¨£õ´Ä ©ØÖ® Ai¨£øh 
£S¨£õ´øÁ ÷ÁÖ£kzxP. 

Or 

 (b)  Briefly explain the various types of direct 
investment alternatives. 

÷|μi •u½k ©õØÖÁÈ°ß £À÷ÁÖ ÁøPPøÍ 
_¸UP©õP ÂÍUSP. 

15. (a) What are the objectives of portfolio theory?  

  xøÓ÷Põm£õmiß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b)  State the assumptions of technical analysis. 

  öuÈÀ~m£ £S¨£õ´Âß Gk÷PõÒPÒ ¯õøÁ? 

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the various classifications of securities in brief. 

 ¤øn¯[PÎß £À÷ÁÖ ÁøPPøÍ _¸UP©õP ÂÍUSP. 

17. Explain the various procedures for buying and selling of 
shares from the share market. 

 £[Sa \¢øu°À £[SPøÍ Áõ[SuÀ ©ØÖ® ÂØ¨£x 
öuõhº£õÚ £À÷ÁÖ ÁÈ•øÓPøÍ ÂÍUSP. 
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18. Discuss the powers and functions of SEBI. 

 SEBI °ß AvPõμ[PÒ ©ØÖ® £oPøÍ ÂÁõvUP. 

19. Explain the different process of portfolio investment in 
brief. 

 xøÓ•u½miß öÁÆ÷ÁÖ ö\¯À•øÓPøÍ _¸UP©õP 
ÂÍUSP. 

20. Explain Efficient Market Theory in detail. 

 vÓø©¯õÚ \¢øu ÷Põm£õmiøÚ Â›ÁõP ÂÍUSP. 

–––––––––––––– 
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DISTANCE EDUCATION 

Common for M.Com./M.Com (F & C) DEGREE 
EXAMINATION, MAY 2023. 

Third Semester 

FINANCIAL MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is meant by Financial Management? 

 {v ÷©»õsø© £ØÔ AÔÁx GßÚ? 

2. What is dividend? 

 £[Põuõ¯® GßÓõÀ GßÚ? 

3. What is meant by Risk? 

 Chº £ØÔ AÔÁx GßÚ? 

4. How do you calculate Net Working Capital? 

 {Pμ |øh•øÓ ‰»uÚzøu G¨£i PnUQkÁõ´? 

5. What do you mean by right issue? 

 E›ø© öÁÎ±k £ØÔ }Âº AÔÁx GßÚ? 

Sub. Code 
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6. Define the term Cost of Capital. 

 ‰»uÚ AhUPÂø» GÝ® £uzøu Áøμ¯ÖUP. 

7. What is meant by Optimal Capital Structure? 

 Ezu© ‰»uÚ ÁiÁø©¨¦ £ØÔ AÔÁx GßÚ? 

8. What is Leasing? 

 SzuøP GßÓõÀ GßÚ? 

9. What is meant by Leverage? 

 ö|®¦÷PõÀ £ØÔ AÔÁx GßÚ? 

10. What is Foreign Exchange Market? 

 A¢{¯a ö\»Áõo \¢øu GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) What are the importance of financial management? 

  {v ÷©»õsø©°ß •UQ¯zxÁ[PÒ ¯õøÁ? 

Or 

 (b) State the merits and demerits of preference shares. 

  •ßÝ›ø© £[SPÎß |ßø©PÒ ©ØÖ® wø©PøÍ 
TÖP. 

12. (a) What are the merits and demerits of debentures? 

  PhÜmk¨ £zvμ[PÎß |ßø©PÒ ©ØÖ® wø©PÒ 
¯õøÁ? 

Or 
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 (b) What are the differences between shareholders and 
debenture holders? 

  £[SuõμºPÒ ©ØÖ® PhÜmk¨ 
£zvμuõμºPÐUQøh÷¯²ÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

13. (a) What are the main sources of working capital? 

  |øh•øÓ ‰»uÚzvß •UQ¯©õÚ ÁÍ[PÒ 
¯õøÁ? 

Or 

 (b) What are the methods used to evaluate capital 
expenditures? 

  ‰»uÚ ö\»ÂÚ[PÒ ©v¨¥k ö\´ÁuØS 
£¯ß£kzuUTi¯ •øÓPÒ ¯õøÁ? 

14. (a) What are the merits of weighted average cost of 
capital? 

  Gøh°mh \μõ\› ‰»uÚ AhUPÂø»°ß |ßø©PÒ 
¯õøÁ? 

Or 

 (b) Briefly explain the various factors determining the 
dividend decision. 

  £[Põuõ¯ •iÂøÚ wº©õÛUPU Ti¯ £À÷ÁÖ 
PõμoPøÍ _¸UP©õP ÂÍUSP. 

15. (a) What are the assumptions of M.M theory? 

  M.M ÷Põm£õmiß Gk÷PõÒPÒ ¯õøÁ? 

Or 

 (b) Bring out the limitations of Walter’s model theory. 

  ÁõÀh›ß ©õv›U ÷Põm£õmiß SøÓ£õkPøÍz 
u¸P. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. What are the goals of financial management? Discuss 
them in brief. 

 {v ÷©»õsø©°ß SÔU÷PõÒPÒ ¯õøÁ? AÁØøÓ 
_¸UP©õP ÂÁõvUP. 

17. Explain the types of working capital in detail.  

 |øh•øÓ ‰»uÚzvß ÁøPPøÍ Â›ÁõP ÂÍUSP. 

18. Briefly explain the different theories of capital structure. 

 ‰»uÚ Pmhø©¨¤ß öÁÆ÷ÁÖ ÷Põm£õkPøÍ _¸UP©õP 
ÂÁõvUP. 

19. What is cost of debt? Explain the various methods of 
computing cost of debt capital. 

 Phß AhUPÂø» GßÓõÀ GßÚ? Phß ‰»uÚ 
AhUPÂø»ø¯ PnUQk® £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

20. Explain the various kinds of letter of credit. 

 ÁõoP EÖvUPiuzvß £À÷ÁÖ ÁøPPøÍ ÂÁõvUP. 

–––––––––––––– 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Give the meaning of Personnel Management. 

 £o¯õÍº ÷©»õsø©°ß ö£õ¸øÍ u¸P. 

2. What is Job design? 

 ÷Áø» ÁiÁø©¨¦ GßÓõÀ GßÚ? 

3. Define Recruitment. 

 BÒ÷\ºzuø» Áøμ¯ÖUP. 

4. What is meant by Vestibule training? 

 •ßTh £°Ø] £ØÔ AÔÁx GßÚ? 

5. What do you mean by Incentives? 

 FUPzöuõøP £ØÔ }Âº AÔÁx GßÚ? 

6. Trace the meaning of Motivation. 

 E¢xuÀ Gß£uß ö£õ¸øÍU PshÔ¯Ä®. 
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7. What is Job Satisfaction? 

 ÷Áø» v¸¨v GßÓõÀ GßÚ? 

8. What is meant by Grievance? 

 SøÓ£õk £ØÔ AÔÁx GßÚ? 

9. What is Collective Bargaining? 

 Tmk ÷£μ® GßÓõÀ GßÚ? 

10. What is Personal Research? 

 uÛ¨£mh Bμõ´a] GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11.  (a) What are the goals of personnel management? 

   £o¯õÍº ÷©»õsø©°ß C»USPÒ ¯õøÁ? 

Or 

 (b) Distinguish between job description and job 
specification. 

   ÷Áø» ÂÁμ® ©ØÖ® ÷Áø» ÂÁμUSÔ¨ø£ 
÷ÁÖ£kzxP. 

12.  (a) List out the demerits of internal sources of 
recruitment. 

   BÒ÷\ºzu¼ß EÒ ‰»[PÐUPõÚ wø©PøÍ 
£mi¯¼kP. 

Or 

 (b) Briefly explain the importance of organisation. 

   Aø©¨¤ß •UQ¯zxÁzøu _¸UP©õP ÂÍUSP. 
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13.  (a) How to create an effective incentive plan? 

   £¯ÝÒÍ FUPz vmhzøu GÆÁõÖ E¸ÁõUSÁx? 

Or 

 (b) What are the uses of fringe benefit system? 

   ÂÎ®¦ |ßø© Aø©¨¤ß £¯ß£õkPÒ ¯õøÁ? 

14.  (a) State the factors that influence job satisfaction. 

   ÷Áø» v¸¨vø¯ £õvUS® PõμoPøÍU 
SÔ¨¤hÄ®. 

Or 

 (b) Briefly explain the social security measures in 
India. 

   C¢v¯õÂÀ EÒÍ \‰P £õxPõ¨¦ |hÁiUøPPøÍ 
_¸UP©õP ÂÍUSP. 

15.  (a) Explain the problems of trade unions. 

   öuõÈØ\[P[PÎß ¤μa\øÚPøÍ ÂÍUPÄ®. 

Or 

 (b) Bring out the importance of Personnel research. 

   £o¯õÍº Bμõ´a]°ß •UQ¯zxÁzøu 
öÁÎ¨£kzxP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain various factors influencing Human Resource 
Planning. 

 ©Ûu ÁÍ vmhªku¼ß £õvUS® £À÷ÁÖ 
PõμoPøÍ²® ÂÍUSP. 

17. Discuss the different methods of performance appraisal. 

 ö\¯ÀvÓß ©v¨¥miß öÁÆ÷ÁÖ •øÓPøÍ¨ £ØÔ 
ÂÁõvUP. 
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18. Explain the different types of incentive payments in 
detail. 

 FUPz öuõøP°ß £À÷ÁÖ ÁøPPøÍ Â›ÁõP ÂÍUSP. 

19. Describe the various factors determining morale. 

 JÊUPzøu {ºn°US® £À÷ÁÖ PõμoPøÍ ÂÁ›UP. 

20. Describe the objectives of personnel audit. 

 £o¯õÍº uoUøP°ß ÷|õUP[PøÍ ÂÁ›UP. 

———————— 
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PART A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is meant by Underwriting?  

 J¨¦Öv £ØÔ }Ãº AÔÁx GßÚ? 

2. Define Debenture. 

 PhÜmk £zvμzøu Áøμ¯ÖUP.  

3. What is interim dividend? 

 CøhUPõ» £[Põuõ¯® GßÓõÀ GßÚ? 

4. What is Super profit Method?  

 E¯º C»õ£ •øÓ GßÓõÀ GßÚ? 

5. What is Purchase Consideration? 

 öPõÒ•uÀ ©Ö£¯ß GßÓõÀ GßÚ? 
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6. What is External Reconstruction? 

 öÁÎ^μø©¨¦ GßÓõÀ GßÚ? 

7. State any two objectives of holding company. 

 ¤i¨¦ {Ö©zvß H÷uÝ® Cμsk ÷|õUP[PøÍU TÖP.  

8. What is meant by Liquidation? 

 Pø»¨¦ £ØÔ AÔÁx GßÚ? 

9. What is Contingent Liability? 

 {PÌÄøh ö£õÖ¨¦ GßÓõÀ GßÚ? 

10. What is Responsibility Accounting? 

 ö£õÖ¨¦ PnUQ¯À GßÓõÀ GßÚ? 

PART B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) X Ltd forfeited 30 shares of Rs. 10 each fully called 
up, held by Ram for non- payment of allotment 
money of Rs.3 per share and first call of Rs.4 per 
share. He had paid the application money of Rs.3 
per share. These shares were re-issued to Raja for 
Rs.8 per share. Pass journal entries. 

  •ÊÁx® AøÇUP¨£mh 30 £[SPÒ JßÖ ¹£õ´ 
10 Ãu® μõ® Gß£ÁºUS JxUP¨£mhvÀ AÁº ¹.3 
JxURmk¨ £n•®, ¹. 4 •uÀ AøÇ¨¦ £n•® 
ö\¾zuõuuõÀ X {Ö©® £[SPøÍ JÖ¨¤Ç¨¦ 
ö\´ux. AÁº £[S JßÖUS ¹.3 Âsn¨£n® 
©mk® ö\¾zv°¸¢uõº. AÆÁõÖ JÖ¨¤Ç¨¦ 
ö\´¯¨£mh £[SPÒ £[S JßÖUS ¹. 8 Ãu® 
CμõáõÂØS ©Ö öÁÎ±k ö\´¯¨£mhx. 
SÔ¨÷£mk £vÄPøÍ u¸P.  

Or 
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 (b) From the following information find out how much 
minimum fresh issue is necessary. if redeemable 
preference share of Rs.2,00,000 is redeemed at 10% 
premium. The Balance sheet shows the following: 
Profit Rs.30,000; General reserve Rs.20,000; share 
premium Rs. 8,000; dividend equalization fund 
Rs.50,000. 

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x ¹. 2,00,000 «m¦ 
•ßÝ›ø© £[SPøÍ 10% •øÚ©zvÀ «mP 
GÆÁÍÄ SøÓ¢u •ßÝ›ø© £[Qß ¦v¯ 
öÁÎ±k ÷uøÁ¨£k® Gß£øu TÖ. 
C¸¨¦{ø»USÔ¨£õÚx ¤ßÁ¸® ÂÁμ[PøÍ 
u¸QÓx. C»õ£® ¹. 30,000 ö£õxPõ¨¦ ¹. 20,000 
£[S •øÚ©® ¹. 8,000 £[Põuõ¯ \©{ø» {v  
¹. 50,000. 

12. (a) Draw a specimen form of Profit and Loss account.  
  C»õ£ |mh PnUQß ©õv› £iÁzøu ÁøμP.  

Or 

 (b) Explain the various methods of valuation of 
goodwill. 
£[SPøÍ ©v¨¤ku¼ß £À÷ÁÖ •øÓPøÍ 
ÂÍUSP. 

13. (a) A company purchased assets of Rs.4,20,000 and 
took over liabilities of Rs.40,000 at an agreed value 
of Rs.3,60,000. The company issued debentures at 
10% discount in full satisfaction of the purchase 
price. Give journal entries in the books of 
purchasing company. 

  J¸ {Ö©©õÚx ¹. 4,20,000US ö\õzxUPøÍ 
Áõ[Q¯x ©ØÖ® ¹. 40,000 ©v¨¦ÒÍ 
ö£õÖ¨¦PøÍ Gkzux. AuØS® ¹. 3,60,000I 
öPõÒ•uÀ ©Ö£¯ÚõP ö\¾zu J¨¦ öPõshx. 
AuØPõP {Ö©©õÚx PhÜmk £zvμzøu 10% 
uÒÐ£i°À öÁÎ°mk öPõÒ•uÀ ©Ö£¯øÚ 
ö\¾zv¯x. Áõ[Q¯ {Ö©zvß HkPÎÀ SÔ¨÷£mk 
£vÄPøÍz u¸P.  

Or 
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 (b) The Share capital of Z Ltd. consists of the following:. 

  (i) 10,000 6% preference shares of Rs 100 each 
and  

  (ii)  50,000 equity shares of Rs. 10 each. 

   The shares were fully paid. The company had 
accumulated losses totaling Rs.3,50,000 
besides preliminary expenses of Rs.20,000. It 
was also ascertained that the fixed assets 
which stood in the books at Rs. 14,00,000 was 
overvalued to the extent of Rs.4,00,000. A 
scheme of capital reduction was approved as 
follows: 

   (1) 6% preference shares were to be 
converted into 7% preference shares of 
Rs.60 each. 

   (2) Equity shares were to be reduced to Rs.2 
each. Give Journal entries. 

  Z {Ö©zvß £[S •uÀ ¤ßÁ¸©õÖ C¸¢ux.  

  (i) 10,000, 6% •ßÝ›ø© £[SPÒ JßÖ ¹. 100 
Ãu® ©ØÖ®  

  (ii) 50,000 ö£õx{ø» £[SPÒ JßÖ ¹. 10 Ãu®.  

   £[SPÍõÚx •ÊÁx® ö\¾zu¨£mhx. 
AUP®ö£Û¯õÚx ¹. 3,50,000 ö£Ö©õÚ 
SÂ¢u |mh•®, ¹. 20,000 ö£Ö©õÚ öuõhUP 
ö\»ÄPÐ® C¸¢ux. HkPÎÀ C¸¢u  
¹. 14,00,000 ö£Ö©õÚ {ø»a ö\õzxUPÎÀ 
¹. 4,00,000 AvP©õP ©v¨¤h £mkÒÍuõP 
PshÔ¯¨£mhx. ¤ßÁ¸©õÖ ‰»uÚ SøÓ¨¦ 
vmh® A[RP›UP¨£mhx.  

   (1) 6% •ßÝ›ø© £[SPÒ 7% •ßÝ›ø© 
£[SPÍõP ¹. 60 Ãu® ©õØÓ¨£mkÒÍx.  

   (2) ö£õx{ø» £[SPÒ JßÖ ¹. 2 Ãu® 
SøÓUP¨£mhx. SÔ¨÷£mk £vÄPøÍz 
u¸P.  
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14. (a) From the following Balance sheet of H Ltd. and  
S Ltd. Prepare Consolidated Balance Sheet. 

Liabilities H Ltd.
Rs. 

 S Ltd. 
Rs. 

Assets H Ltd.
Rs. 

S Ltd.
Rs. 

Shares of Re. 1 each 12,000  5,000 Sundry assets 16,000 8,000

Sundry liabilities 8,000  3,000 Investment  

   (4000 shares 

   in S Ltd.) 4,000 –

 20,000  8,000  20,000 8,000

  H {Ö©® ©ØÖ® S {Ö©zvß ¤ßÁ¸® C¸¨¦{ø»U 
SÔ¨¤¼¸¢x J¸[Qøn¢u C¸¨¦{ø»U 
SÔ¨ø£z u¯õ›UP.  

ö£õÖ¨¦PÒ H  
{Ö©® 

¹. 

S 
{Ö©® 

¹. 

ö\õzxUPÒ H  
{Ö©®

¹. 

S 
{Ö©®

¹. 

¹. 1 •P©v¨¦øh¯   £Ø£» ö\õzxUPÒ 16,000 8,000

  £[SPÒ 12,000 5,000 •u½kPÒ 

£Ø£» ö£õÖ¨¦PÒ 8,000 3,000 (S {Ö©zvÀ  

   4000 £[SPÒ) 4,000 –

 20,000 8,000  20,000 8,000

Or 

 (b) The following particulars relate to a Ltd. Company 
which has gone into voluntary liquidation. The 
liquidator is entitled to get 2% on the amount 
distributed to unsecured creditors other than 
preferential. You are required to prepare the 
liquidators final accounts. 

Particulars Rs. 

Preferential Creditors 10,000

Unsecured Creditors 32,000

Debentures 10,000
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The Assets realized are:

Land and Buildings 20,000

Plant and Machinery 18,650

Furniture and Fittings 1,000

Liquidation Expenses 1,000

  ¤ßÁ¸® uPÁÀPÍõÚx uõÚõP Pø»UP¨£mh J¸ 
{Ö©zvØS›¯x. •ßÝ›ø© PhÜ¢÷uõ¸US 
AÎUP¨£mh öuõøPø¯ uÂμ ¤øn¯ªÀ»õ 
PhÜ¢÷uõ¸US ÁÇ[P¨£mh öuõøP°À 2% Fv¯® 
ö£Ó Pø»¨£õÍ¸US E›ø© Esk. Cv¼¸¢x 
Pø»¨£õÍ›ß CÖv PnUøP u¯õº ö\´P.  

ÂÁμ[PÒ ¹. 

•ßÝ›ø© PhÜ¢÷uõº 10,000

¤øn¯ªÀ»õ PhÜ¢÷uõº 32,000

PhÜmk¨ £zvμ® 10,000

ÂØP¨£mh ö\õzxUPÒ ¤ßÁ¸©õÖ :

{»® ©ØÖ® Pmih® 20,000

ö£õÔ ©ØÖ® C¯¢vμ® 18,650

AøÓP»ß ©ØÖ® ö£õ¸zxPÒ 1,000

Pø»¨¦a ö\»ÄPÒ 1,000

15. (a) On 31st March 2007. ABC Corporation Bank had the 
following unmatured bills:  

Date of bill Amount (Rs.) Term Months Discount @ % p.a.

12.10.07 30,000 6 12 

07.02.07 70,000 4 11 

02.03.07 20,000 3 10 

  Calculate the Rebate on Bills discounted and record 
the necessary entry on 31st March 07. 
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©õºa 31, 2007 AßÖ ABC PÇP Á[Q¯õÚx 
¤ßÁ¸® •vºÁøh¯õu Esi¯ÀPøÍ 
øÁzv¸¢ux.  

Esi¯¼ß ÷uv öuõøP  
(¹.) 

©õu uÁøn uÒÐ£i @ % 
Bsk JßÖUS

12.10.07 30,000 6 12 

07.02.07 70,000 4 11 

02.03.07 20,000 3 10 

 ©õºa 31, 2007 AßÖ ÷uøÁ¯õÚ £vÄPøÍz u¢x 
uÒÐ£i ö\´¯¨£mh Esi¯À JxUøP PnUQkP.  

Or 

 (b) Briefly explain any three methods which are used 
for valuation of human resource. 

©Ûu ÁÍzøu ©v¨¤kÁuØS £¯ß£kzuUTi¯ 
•øÓPÎÀ H÷uÝ® ‰ßÔøÚ _¸UP©õP ÂÍUSP.  

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Following is the Balance sheet of Y Ltd., as on 
31.03.2006. 
Liabilities Rs. Assets Rs. 

20,000 equity shares  Plant and Machinery 12,50,000

 of Rs. 100 each 20,00,000 Furniture 4,50,000

14% redeemable   Investment 1,75,000

  preference shares  Stock 7,50,000

  30,000 @ Rs. 20 each 6,00,000 Debtors 7,00,000

Profit and loss   Bank balance 1,75,000

  account 3,50,000  

Sundry creditors 5,50,000  

 35,00,000  35,00,000
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 The preference shares are redeemable at a premium of 
5% on 01.04,2006, it was decided: 

 (a) To sell the investments for Rs. 1,50,000, 

 (b) Utilize Rs.2,50,000 from Profit & Loss account. 

 (c) To issue sufficient equity shares of Rs. 10 each at a 
premium of Rs.2 per share to raise the balance of 
funds required. All the above decisions were fully 
carried out and the preference shares were fully 
redeemed. 

  Pass journal entries to record the above and show 
Balance sheet after redemption. 

 RÌUPõq® C¸¨¦{ø»U SÔ¨¦ Y {ÖÁ©zvß 31.3.2006 
÷uvUPõÚx.  
ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

20,000 \© £[SPÒ  ö£õÔ ©ØÖ® C¯¢vμ® 12,50,000

 ¹.100 Ãu® 20,00,000 ©øÚzxøn¨ ö£õ¸Ò 4,50,000

14% «m¦ •ßÝ›ø©  •u½kPÒ 1,75,000

  £[SPÒ   \μUQ¸¨¦ 7,50,000

 30,000 ¹. 20 Ãu® 6,00,000 PhÚõÎPÒ 7,00,000

C»õ£ |mh PnUS 3,50,000 Á[Q C¸¨¦ 1,75,000

£Ø£» PhÜ¢÷uõº 5,50,000  

 35,00,000  35,00,000

 01.04.2006 AßÖ •ßÝ›ø©¨ £[SPøÍ 5% 
•øÚ©zvÀ «mP •iÄ ö\´¯¨£mhx. AuØPõP 

 (A) •u½kPÒ ¹. 1,50,000US ÂØPÄ® 

 (B) C»õ£ |mhU PnUQ¼¸¢x 2,50,000 £¯ß£kzuÄ®.  

 (C) ÷uøÁ¨£k® \© £[SPøÍ ¹. 10 Ãu® ¹. 2 
•øÚ©zvÀ öÁÎ°hÄ® wº©õÛUP¨£mhx.  

  ÷©ØTÔ¯ vmhzøu |øh•øÓ£izv¯ ¤ßÚº 
•uØSÔ¨÷£mk £vÄPøÍ²® •ßÝ›ø© 
£[SPøÍ «mh ¤ßÚº C¸¨¦{ø»U SÔ¨ø£²® 
u¯õº ö\´P.  
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17. The following is the trial balance of Sugan Ltd as on 
31.3.2018. 

 Debit 
(Rs.) 

Credit 
(Rs.) 

Stock on 01.04.2017 7,500

Sales and purchases 24,500 35,000

Wages 5,000  

Discounts 800 500

Salaries 650

Rent 500  

Insurance 1,700  

Profits and Loss a/c (2016-17) - 3,500

Dividend paid 900

Capital (Rs.10 each) - 10,000

Creditors and Debtors 3,750 2,850 

Machinery 2,900  

Bank Balance 1,680  

Reserve 1,550  

Bad debts 420  

 51,850 51,850

 Adjustments: 

 (a) Stock on 31.03.2018 Rs.8,000 

 (b)  Provide depreciation on Machinery at 20% 

 (c)  Provide 5% discount on debtors and 2½% on 
creditors 

 (d)  Six months insurance was unexpired. 

  Prepare Profit and Loss a/c for the year ended 
31.03.2018 and Balance Sheet on that date. 
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 31.03.2018 AßøÓ¯ _Pß {Ö©zvß C¸¨£õ´Ä 
¤ßÁ¸©õÖ.  

 £ØÖ 
(¹.) 

ÁμÄ 
(¹.) 

01.04.2017 AßøÓ¯ \μUQ¸¨¦ 7,500

ÂØ£øÚ ©ØÖ® öPõÒ•uÀ 24,500 35,000

T¼ 5,000  

uÒÐ£i 800 500

Fv¯® 650

ÁõhøP 500  

Põ¨¥k 1,700  

C»õ£ |mhU PnUS (2016-17) - 3,500

£[Põuõ¯® ö\¾zv¯x 900

•uÀ (¹. 10 Ãu®) - 10,000

PhÜ¢÷uõº ©ØÖ® PhÚõÎPÒ 3,750 2,850 

C¯¢vμ® 2,900  

Á[Q C¸¨¦ 1,680  

Põ¨¦ 1,550  

ÁõμõUPhß 420  

 51,850 51,850

 TkuÀ ÂÁμ[PÒ : 

 (A) 31.3.2018 AßøÓ¯ \μUQ¸£¦ ¹. 8,000 

 (B) C¯¢vμzvß «x 20% ÷u´©õÚ® }USP.  

 (C) PhÚõÎPÎß «x 5% ®, PhÜ¢÷uõº «x 2½% •®  
uÒÐ£i E¸ÁõUSP.  

 (D) 6 ©õu Põ¨¥k •ßTmi ö\¾zu¨£mhx. 

  31.03.2018 AßÖ C»õ£ |mhU PnUS ©ØÖ® 
A¢|õøÍ¯ C¸¨¦{ø»U SÔ¨ø£²® u¯õº ö\´P.  
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18. The balance sheet of Zee Ltd. as on 31.12.2007 was as 
follows.  
Liabilities  Rs. Assets Rs. 

Share capital :   Goodwill 10,000

12,000 shares of    Machinery 71,350

Rs. 10 each  1,20,000  Preliminary expenses 1,500

Less : Calls in arrear   Stock 25,275

           (Rs. 3 per share) 9,000 1,11,000 Bank 1,500

Creditors  15,425 Profit and Loss a/c 20,800

Provision for taxes  4,000  

  1,30,425  1,30,425

 Machinery was found overvalued by Rs. 10,000. It was 
decided to write down the value of this asset to its true 
value and to eliminate other fictitious assets by the 
adoption. of the following course. 

 (a) Forfeit the share in which calls are in arrears. 

 (b) Reduce the paid up capital by Rs.3 per share. 

 (c)  Re-issue the forfeited shares at Rs. 5 per share. 

 (d)  Utilise the provision for taxation if necessary.  

  Journalise and prepare the Balance sheet after 
carrying out the scheme. 

 Zee {Ö©zvß 31.12.2007 ® |õøÍ¯ C¸¨¦{ø» SÔ¨¦ 
¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ ¹. 

£[S •uÀ:   |Øö£¯º 10,000

12,000 £[SPÒ JßÖ   C¯¢vμ® 71,350

¹. 10 Ãu® 1,20,000  öuõhUPa ö\»ÄPÒ 1,500

PÈUP : AøÇ¨¦{¾øÁ   \μUQ¸¨¦ 25,275

  (£[S JßÖUS ¹. 3 Ãu®) 9,000 1,11,000 Á[Q 1,500

PhÜ¢÷uõºPÒ  15,425 C»õ£ |mhU PnUS 20,800

Á¸©õÚ Á› JxUS  4,000  

  1,30,425  1,30,425
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 C¯¢vμ©õÚx ¹. 10,000 AvP©õP ©v¨¤h£mhx 
öu›¯Á¢ux, C¢u ö\õzvß ©v¨ø£ AuÝøh¯ 
Esø©¯õÚ ©v¨¤ØS SøÓUP •iÄö\´¯¨£mhx 
÷©¾® ¤ßÁ¸® ö\¯ÀPÐUS Em£mk Cuμ PnUQØS 
¦»ÚõPõu ö\õzxUPøÍ ÷£õUöPÊu •iÄ ö\´¯¨£mhx.  

 (A) AøÇ¨¦ {¾øÁ°À EÒÍ £[SPøÍ JÖ¨¤øÇ¨¦ 
ö\´uÀ  

 (B) ö\¾zv¯ •u¼À £[S JßÖUS ¹. 3 CßÝ® 
SøÓzuÀ  

 (C) JÖ¨¤øÇ¨¦ ö\´u £[SPøÍ £[S JßÖUS ¹. 5 
Ãu® ©Ö öÁÎ±k ö\´uÀ  

 (D) ÷uøÁ¨£mhõÀ Á¸©õÚ Á› JxUøP £¯ß£kzu 
•iÄ ö\´¯¨£mhx.  

  ÷©ØS›¯ vmhzøu |øh•øÓ£kzv¯ ¤ßÚº 
•uØSÔ¨÷£mk £vÄPøÍ²® C¸¨¦{ø»U 
SÔ¨ø£²® u¯õº ö\´P.  

19. Prepare a Consolidated Balance Sheet from the following 
particulars: 

Balance sheet 

Liabilities H Ltd. 
Rs. 

 S Ltd. 
Rs. 

Assets H Ltd.
Rs. 

S Ltd.
Rs. 

Share capital 6,00,000  2,00,000 Fixed assets 4,50,000 1,00,000

Profit and     Stock 3,50,000 2,35,000

  loss a/c 3,00,000  1,00,000 Debtors 60,000 75,000

Reserve 1,00,000  50,000 30,000 shares

Creditors 60,000  45,000   in S Ltd 2,00,000 -

Bills payable -  15,000  

 10,60,000  4,10,000  10,60,000 4,10,000
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 Additional Information: 

 (a)  All the profits of S Ltd has been earned since the 
shares were acquired by H Ltd but there was 
already a reserve of a Rs. 25,000 as on the date. 

 (b) The bills accepted by S Ltd includes Rs. 5,000 
drawn in favour of H Ltd. 

 (c) Fixed assets of S Ltd are undervalued by Rs. 10,000 

 (d) The stock of H Ltd includes Rs. 25,000 brought from 
S Ltd at a profit of 25% on cost of standard.  

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x J¸[Qøn¢u C¸¨¦{ø»U 
SÔ¨ø£ u¯õº ö\´P.  

C¸¨¦{ø»U SÔ¨¦ 
ö£õÖ¨¦PÒ H  

{Ö©® 
¹. 

S 
{Ö©® 

¹. 

ö\õzxUPÒ H  
{Ö©®

¹. 

S 
{Ö©®

¹. 

£[S •uÀ 6,00,000 2,00,000 {ø»a ö\õzxUPÒ 4,50,000 1,00,000

C»õ£ |mh  \μUQ¸¨¦ 3,50,000 2,35,000

  PnUS 3,00,000 1,00,000 PhÚõÎPÒ 60,000 75,000

Põ¨¦ 1,00,000 50,000 S {Ö©zvÀ 

PhÜ¢÷uõºPÒ 60,000 45,000 Áõ[Q¯  2,00,000 -

ö\¾zuØS›¯ ©õØÖa ^mk - 15,000 30,000£[SPÒ 

 10,60,000 4,10,000  10,60,000 4,10,000

 TkuÀ Â£μ[PÒ.  

 (A) S {Ö©zvÀ EÒÍ GÀ»õ C»õ£[PÐ® H {Ö©® 
£[SPøÍ Áõ[Q¯ ¤ßÚº Dmi¯uõS®. BÚõÀ  
¹. 25,000 ö£Ö©õÚ Põ¨¦ ©mk® HØPÚ÷Á  

S {Ö©zvß HkPÎÀ C¸¢ux.  

 (B) S {Ö©zuõÀ HØÖU öPõÒÍ¨£mh ©õØÖa ^miÀ  

¹. 5,000 ö£Ö©õÚøÁ H {Ö©zuõÀ GÊu¨£mhøÁ.  
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 (C) S {Ö©zvÝøh¯ {ø»a ö\õzvÀ ¹. 10,000 
SøÓzx ©v¨¤h¨£mhx.  

 (D) H {Ö©zvß \μUQÀ ¹. 25,000 ö£Ö©õÚøÁ  
S {Ö©zvhª¸¢x Áõ[Q¯øÁ (Cx 
AhUPÂø»°ß «x 25% C»õ£® BS®) 

20. What are the advantages and disadvantages of IFRS? 

 IFRS |ßø©PÒ ©ØÖ® wø©PÒ ¯õøÁ? 

———————— 
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DISTANCE EDUCATION 

COMMON FOR M.Com./M.Com.(F&C) DEGREE 
EXAMINATION, MAY 2023. 

Fourth Semester 

MANAGEMENT ACCOUNTING 

(CBCS 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is meant by Management Accounting? 

 ÷©»õsø© PnUQ¯À GßÓõÀ GßÚ? 

2. List out any two uses of Management Accounting. 

 ÷©»õsø© PnUQ¯¼ß H÷uÝ® Cμsk £¯ßPøÍ 
£mi¯¼kP. 

3. What do you mean by Comparative Statement? 

 J¨¤mk AÔUøP £ØÔ }Âº AÔÁx GßÚ? 

4. What do you mean by Debt-Equity Ratio? 

 Phß&ö£õx ÂQu® £ØÔ }Âº AÔÁx GßÚ? 

5. What do you mean by Flow of Funds?  

 {v Kmh® £ØÔ }Âº AÔÁx GßÚ? 

Sub. Code 
31041/ 
33541 
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6. Write a note on ‘Cash Flow’.  

 öμõUP® Kmh® £ØÔ SÔ¨¦ GÊxP. 

7. What is Budgeting? 

 vmh£mi¯À GßÓõÀ GßÚ? 

8. State any two objectives of Budgetary Control. 

 vmh£mi¯À Pmk¨£õmiß H÷uÝ® Cμsk 
÷|õUP[PøÍ TÖP. 

9. What is meant by Margin of safety? 

 £õxPõ¨¦ GÀø» £ØÔ AÔÁx GßÚ? 

10. What is Break Even Sales? 

 \©{ø» ÂØ£øÚ GßÓõÀ GßÚ? 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the functions of Management accounting? 

  ÷©»õsø© PnUQ¯¼ß £oPÒ ¯õøÁ? 

Or 

 (b) What are the limitations of Management 
Accounting? 

  ÷©»õsø© PnUQ¯¼ß SøÓ£õkPÒ ¯õøÁ? 

12. (a) What are the objectives of financial statements? 

  {v{ø» AÔUøP°ß ÷|õUP[PÒ ¯õøÁ? 

Or 
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 (b) You are given the following information for two 
companies. 

 Company A 
(Rs.) 

Company B 
(Rs.) 

Cash 18,000 14,000 

Debtors 1,42,000 3,20,000 

Closing stock 1,80,000 5,40,000 

Bills payable 27,000 1,00,000 

Creditors 50,000 4,00,000 

Outstanding expenses 15,000 12,500 

Tax payable 75,000 1,00,000 

  Calculate liquidity ratios for the two companies. 

 ¤ßÁ¸® uPÁÀPÒ BÚx C¸ P®ö£ÛPÐUS E›¯x 
Â£μ[PÒ P®ö£Û A 

(¹.) 
P®ö£Û B 

(¹.) 
öμõUP® 18,000 14,000 
PhÚõÎPÒ 1,42,000 3,20,000 
CÖv \μUQ¸¨¦ 1,80,000 5,40,000 
ö\¾zuØS›¯ ©õØÖa ^mk 27,000 1,00,000 
PhÜ¢÷uõºPÒ 50,000 4,00,000 
öPõk£h ÷Ási¯ ö\»ÂÚ[PÒ 15,000 12,500 
ö\¾zu ÷Ási¯ Á› 75,000 1,00,000 

  C¸ P®ö£ÛPÐUS }ºø© ÂQuzøu PnUQkP. 

13. (a) Prepare a statement of changes in working capital 
from the following Balance sheet.  

Balance sheet as on 31st December 
Liabilities 2020 

Rs. 
2021 
Rs. 

Assets 2020 
Rs. 

2021 
Rs. 

Equity Capital 5,00,000 5,00,000 Fixed  

Debentures 3,70,000 4,50,000 Assets 6,00,000 7,00,000

Tax Payable 77,000 43,000 Long term 

Creditors 96,000 1,92,000 Investments 2,00,000 1,00,000
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Liabilities 2020 
Rs. 

2021 
Rs. 

Assets 2020 
Rs. 

2021 
Rs. 

Interest  Work in 

Payable 37,000 45,000 progress 80,000 90,000

Dividend  Stock 1,50,000 2,25,000

Payable 50,000 35,000 Debtors 70,000 1,40,000

  Cash 30,000 10,000

 11,30,000 12,65,000  11,30,000 12,65,000

  ¤ßÁ¸® C¸¨¦ {ø»U SÔ¨¤¼¸¢x |øh•øÓ 
•uÀ ©õÖ£õmøh PnUQkP  
31 i\®£º AßøÓ¯ C¸¨¦ {ø»U SÔ¨¦ 

ö£õÖ¨¦UPÒ 2020 
¹. 

2021 
¹. 

ö\õzxUPÒ 2020 
¹. 

2021 
¹. 

£[S •uÀ 5,00,000 5,00,000 {ø»¯õÚ 

PhÜmk¨  ö\õzxUPÒ 6,00,000 7,00,000
£zvμ[PÒ 3,70,000 4,50,000 }sh Põ» 

Á›ö\¾zu  •u½kPÒ 2,00,000 1,00,000
÷Ási¯x 77,000 43,000 •iÁøh¯õu

PhÜ¢÷uõº 96,000 1,92,000 ÷Áø» 80,000 90,000
Ámi ö\¾zu  \μUQ¸¨¦PÒ 1,50,000 2,25,000
÷Ási¯x 37,000 45,000 PhÚõÎPÒ 70,000 1,40,000
£[Põuõ¯®  öμõUP® 30,000 10,000
ö\¾zu    

÷Ási¯x 50,000 35,000  

 11,30,000 12,65,000  11,30,000 12,65,000

Or 

 (b) Calculate Cash from operations from the following : 
 2018 2019 
 (Rs.) (Rs.) 

Profit and Loss appropriation a/c 10,000 20,000
Bills receivable 18,000 22,000
Provision for depreciation 40,000 42,000
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 2018 2019 
 (Rs.) (Rs.) 

Outstanding rent 1,600 4,000
Prepaid insurance 2,000 1,800
Goodwill 24,000 20,000
Stock 12,000 16,000

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x ö\¯À£õkPÎ¼¸¢x 
Qøhzu öμõUPzøuU PnUQkP. 

 2018 2019 
 (¹.) (¹.) 

C»õ£|mh £QºÄ PnUS 10,000 20,000
ö£ÖuØS›¯ ©õØÖa^mk 18,000 22,000
÷u´©õÚ JxUS 40,000 42,000
öPõk£h ÷Ási¯ ÁõhøP 1,600 4,000
•ß Tmi ö\¾zv¯ Põ¨¥k 2,000 1,800
|Øö£¯º 24,000 20,000
\μUQ¸¨¦ 12,000 16,000

14. (a) From the following particulars prepare the Raw 
Materials Purchase Budget for October 2018.  

     Materials (in units) 
 A B C D E F 

Estimated    
stock on   
01.10.2018  16,000 6,000  24,000 2,000 14,000 28,000
Estimated    
stock on   
31.10.2018  20,000 8,000  28,000 4,000 16,000 32,000
Estimated   
consumption 1,20,000 44,000 1,32,000 36,000 88,0001,72,000
Standard   
Price per   
Unit (paise) 25 05 15 10 20 30
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  ¤ßÁ¸® Â£μ[PÎ¼¸¢x ‰»¨ö£õ¸Ò öPõÒ•uÀ 
vmhzøu AU÷hõ£º 2018&À u¯õ›UP 

     ‰»¨ö£õ¸ÒPÒ (A»SPÎÀ) 

 A B C D E F 

01.10.2018À   

wº©õÛUP¨£mh   

\μUQ¸¨¦  16,000 6,000  24,000 2,000 14,000 28,000

31.10.2018À   

wº©õÛUP¨£mh   

\μUQ¸¨¦  20,000 8,000  28,000 4,000 16,000 32,000

wº©õÛUP¨£mh   

~PºÄ 1,20,000 44,000 1,32,000 36,000 88,0001,72,000

Kμ»QØPõÚ    

{ºn¯ Âø»   

(ø£\õ) 25 05 15 10 20 30

Or 

 (b) A manufacturing company submits the following 
figures of product X for the first Quarter of 2013: 

  Sales (in units):  

  January 2,50,000; February 2,40,000;   
March 2,60,000 

  Selling price per unit Rs. 100 

  Target of 1st Quarter of 2014: 

  Sales quantity increase 20%; Sales price  
increase 10% 

  Prepare Sales Budget for the first quarter of 2014. 
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  J¸ EØ£zv {Ö©® X GÝ® ö£õ¸ÒPÐUS 2013® 
Bsiß •uÀ ‰ßÖ ©õu[PÐUPõÚ ¤ßÁ¸® 
uPÁÀPøÍz u¸QÓx : 

  ÂØ£øÚ (A»SPÎÀ) : 

  áÚÁ›  2,50,000; ¤¨μÁ› 2,40,000;   
©õºa 2,60,000 

  J¸ A»QØPõÚ ÂØ£øÚ Âø» ¹.100 

  2014® Bsiß •uÀ ‰ßÖ ©õu Põ» C»US : 

  AvP›UP ÷Ási¯ ÂØ£øÚ AÍÄ – 20% 

  AvP›UP ÷Ási¯ ÂØ£øÚ Âø» – 10% 

  2014® Bsiß •uÀ ‰ßÖ ©õu Põ»zvØS 
ÂØ£øÚ vmhzøu u¯õ›UP. 

15. (a) P/V Ratio is 30%; Margin of safety ratio is 33 3
1 % 

and Sales are Rs.19,90,000. 

  Calculate the amount of Profit. 

  C»õ£ AÍÄ ÂQu® 30% , £õxPõ¨¦ GÀø» ÂQu® 

33 3
1 % ©ØÖ® ÂØ£øÚ ¹.19,90,000 GÛÀ 

C»õ£zøu PnUQkP. 

Or 

 (b) A company has a P/V ratio of 40%. By what 
percentage must sales be increased to offset: (i) 10% 
reduction in selling price (ii) 20% reduction in 
selling price 

  J¸ {Ö©©õÚx 40% C»õ£ AÍÄ ÂQuzøu 
öPõskÒÍx. ¤ßÁ¸® {ø»PÎÀ GzuøÚ \uÃu® 
ÂØ£øÚ°ß AÍøÁ AvP›UP ÷Ásk®. 

  (i) ÂØ£øÚ Âø»°À 10% SøÓ¢uõÀ  

  (ii) ÂØ£øÚ Âø»°À 20% SøÓ¢uõÀ. 
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PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. What are the steps to be taken while installing a 
management accounting system? 

 ÷©»õsø© PnUQß •øÓPøÍ {ÖÄu¼À EÒÍ 
£À÷ÁÖ £iPÒ ¯õøÁ? 

17. From the following particulars of X Company Calculate:  

 (a) Sales  

 (b) Debtors  

 (c) Closing Stock 

 (d) Creditors 
Debtors velocity 3 months Creditors velocity 2 months

Stock turnover ratio 8 times Gross Profit Ratio 25% 

 Gross profit for the year was Rs.4,00,000 Closing stock 
was Rs.10,000 more than the opening stock. 

 ¤ßÁ¸® uPÁÀPÍõÚx X {Ö©zvØS›¯x, CÁØÔ¼¸¢x 
¤ßÁ¸ÁÚÁØøÓ PnUQkP : 

 (A) ÂØ£øÚ 

 (B) PhÚõÎPÒ 

 (C) CÖva \μUQ¸¨¦ 

 (D) PhÜ¢÷uõºPÒ 
PhÚõÎPÎß   PhÜ¢÷uõºPÎß   
_ÇØ] 3 ©õu[PÒ _ÇØ] 2 ©õu[PÒ

\μUQ¸¨¦ _ÇØ]  ö©õzu C»õ£  
ÂQu® 8 uhøÁPÒ ÂQu® 25% 

  AÆÁõsiÀ EÒÍ ö©õzu C»õ£® ¹.4,00,000. 
CÖva \μUQ¸¨£õÚx öuõhUP \μUQ¸¨ø£ Âh 
¹.10,000 AvP©õS®. 
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18. From the following Balance sheet, prepare Fund Flow 
Statement. 

Liabilities 2018 2019 Assets 2018 2019 

 Rs. Rs.  Rs. Rs. 

Share Capital 60,000 65,000 Goodwill 30,000 25,000

P & L a/c 34,000 26,000 Plant 60,000 50,000

Current   Current 

Liabilities 12,000 3,000 Assets 16,000 19,000

 1,06,000 94,000  1,06,000 94,000

 Additional information : 

 (a) Depreciation Rs.2,000 per month was charged to 
Profit and Loss account 

 (b) Dividend Rs.12,000 was paid during the year. 

 RÌUPsh C¸¨¦ {ø»U SÔ¨¦PÎ¼¸¢x {v |h©õmh 
AÔUøPø¯ u¯õ›UP : 

ö£õÖ¨¦UPÒ 2018 2019 ö\õzxUPÒ 2018 2019 

 (¹.) (¹.)  (¹.) (¹.) 

£[S •uÀ 60,000 65,000 |Øö£¯º 30,000 25,000

C»õ£ |mh P/S 34,000 26,000 ö£õÔ 60,000 50,000

|h¨¦  |h¨¦ 

ö£õÖ¨¦PÒ 12,000 3,000 ö\õzx 16,000 19,000

 1,06,000 94,000  1,06,000 94,000

 TkuÀ Â£μ[PÒ : 

 (A) ©õu® JßÖUS ¹.2,000 »õ£ |mh PnUQÀ 
÷u´©õÚ® GÊu¨£mhx 

 (B) |h¨¦ BsiÀ £[Põuõ¯® ö\¾zv¯x ¹.12,000 
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19. Bright Ltd. have prepared the budget for the production 
of 1,000 units of a product for a costing period as under :  

 Rs. 
(Per unit) 

Raw materials 10.08 

Direct Labour 3.00 

Direct Expenses 0.40 

Factory Overhead (60% fixed) 10.00 

Administration Overhead (50% fixed) 1.80 

Sales Overhead 0.80 

 Actual production in the period was only 600 units. 
Prepare budgets for the original and revised level of 
output. 

 J¸ AhUPÂø» Põ»zvÀ J¸ ö£õ¸ÎÀ 1000 A»SPøÍ 
u¯õ›UP ¤ßÁ¸©õÖ vmh¨£mi¯ø» ¤øμm {Ö©® 
u¯õ›zux : 

 ¹. 
(A»S 

JßÖUS) 

‰»¨ö£õ¸mPÒ 10.08 
÷|μi T¼ 3.00 
÷|μi ö\»ÂÚ[PÒ 0.40 
öuõÈØ\õø» ÷©Øö\»ÄPÒ  

 (60% {ø»¯õÚx) 10.00 

{ºÁõP ÷©Øö\»ÄPÒ (50% {ø»¯õÚx) 1.80 

ÂØ£øÚ ÷©Øö\»ÄPÒ 0.80 

 AUPõ»zvÀ Esø©¯õÚ EØ£zv 600 A»SPÒ ©mk® 
C¸¢ux. 

 Esø©¯õÚ ©ØÖ® v¸zv Aø©zu öÁÎ±kPÐUS J¸ 
vmh¨£mi¯ø» u¯õ›UP. 
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20. From the following details Calculate:  

 (a) Break even sales  

 (b) Profit for budgeted sales  

 (c) Profit if actual sales are less by 10%.  
 Variable cost 

(% of sales) 
Fixed cost

Rs. 

Direct Material 32.8 – 

Direct Labour 28.4 – 

Factory overhead 12.6 1,89,900

Distribution overhead 4.1 58,400

General administration overhead 1.1 66,700

Actual Sales – Rs.18,50,000   

 RÌUPõq® Â£μ[PÎ¼¸¢x PnUQkP : 

 (A) »õ£ |mh©ØÓ ÂØ£øÚ 

 (B) Gvº£õºUP¨£k® ÂØ£øÚ°À »õ£® 

 (C) Gvº£õºUP¨£k® ÂØ£øÚ°À 10% SøÓ¢uõÀ 
»õ£®. 

 ©õÖ£k® 
Âø» 

(ÂØ£øÚ°À 
%) 

{ø»¯õÚ 
ö\»Ä  

¹. 

÷|μi ö£õ¸Ò 32.8 – 
÷|μi T¼ 28.4 – 
öuõÈØ\õø» ÷©Øö\»Ä 12.6 1,89,900
ÁÇ[PÒ ÷©Øö\»Ä 4.1 58,400
{ºÁõP ÷©Øö\»Ä 1.1 66,700

Gvº£õºUP¨£k® ÂØ£øÚ ¹.18,50,000  

 

—————— 
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DISTANCE EDUCATION 

M.Com. (F & C) DEGREE EXAMINATION, MAY 2023. 

Fourth Semester 

E-COMMERCE 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is E-Commerce? 

2. What are the two activities of E-Commerce? 

3. Who stands for Uniform Resource Locator? 

4. What is the meaning of OSI? 

5. What are the duties of a protocol? 

6. Which software is best for file transfer? 

7. What is rules XML? 

8. Who uses data warehousing? 

9. How can you identify Web Presence Goals? 

10. What are the functions of SCM? 

Sub. Code 
33542 
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SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Explain the functions of Electronic Commerce. 

Or 

 (b) Discuss the Portals in Step to build homepage and 

Metadata. 

12. (a) List the advantages and disadvantages of  

E-Commerce. 

Or 

 (b) What are the features of Shopping Cart?  

13. (a) Explain the features of the TCP IP transport-layer. 

Or 

 (b) What are some Advanced Authentication Methods?  

14. (a) Describe the E-Payment Systems. 

Or 

 (b) Explain the role of SCM Manager. 

15. (a) Explain the Generations in Wireless 

Communication. 

Or 

 (b) Describe the Growth of eBay. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the Role of Internet and Web in E-Commerce. 

17. Describe the Types of E-Commerce Providers and 
Vendors. 

18. Describe the architectural Components of a CRM 
Solution. 

19. Discuss the main features of Knowledge Management 
Tools. 

20. Explain the NEFT advantages and disadvantages. 

––––––––––––– 
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DISTANCE EDUCATION 

M.Com. (F&C) DEGREE EXAMINATION, MAY 2023. 

Fourth Semester 

RESEARCH METHODOLOGY 

(CBCS – 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define Research. 

2. What is research problem? 

3. What is null hypothesis? 

4. Define the term analysis. 

5. What is primary data? 

6. Define pilot study. 

7. What is sample size? 

8. Give the meaning of questionnaire. 

9. What is historical research? 

10. What is direct interview? 

Sub. Code 
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PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain the need of a business research. 

Or 

 (b) List out the importance of Research design.  

12. (a) Explain the need of pre-testing. 

Or 

 (b) What are the advantages of data?  

13. (a) Explain the scope of business Research. 

Or 

 (b) Explain the nature of research design. 

14. (a) Distinguish between primary data and secondary 

data. 

Or 

 (b) Explain the significance of review of literature. 

15. (a) Point out the advantages of E-mail survey. 

Or 

 (b) Explain the role of language in thesis writing. 
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PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the characteristics of good research. 

17. Explain the various methods of sampling. 

18. Describe the different classification of Data. 

19. Enumerate the various types of research report. 

20. Explain the different types of research. 

—————— 



  

D–1694   

DISTANCE EDUCATION 

M.Com. (F&C) DEGREE EXAMINATION, MAY 2023. 

Fourth Semester 

BANKING AND INSURANCE 

(CBCS – 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define banking. 

2. What is paying banker? 

3. What is special crossing? 

4. What is letter of credit? 

5. Who is debtor? 

6. What is health insurance? 

7. Who is minor? 

8. What are traveler cheque? 

9. What is credit card? 

10. What is insurance? 

Sub. Code 
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PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the features of current account?  

Or 

 (b) List out the purpose of pass book. 

12. (a) What are the advantages of crossing? 

Or 

 (b) What are the uses of bills of exchange?  

13. (a) What are the condition of risks? 

Or 

 (b) What are the clauses of risk? 

14. (a) What are the types of documents needed in various 

types of claims?  

Or 

 (b) What are the uses of fire insurance?  

15. (a) Put out the various kinds of endorsement. 

Or 

 (b) State the importance of traveler’s cheque. 
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PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the elements of five insurance contract. 

17. Explain the various rights of bankers. 

18. Describe the different classification of marine insurance. 

19. What are the different types crossing of cheque? 

20. Explain the relationship between banker and customer. 

—————— 


